
 

 

 

                                          CLASS  9   MATHS  ASSIGNMENT      

         CHAPTER 18    TRIGONOMETRICAL  RATIOS  OF STANDARD ANGLES Continuation.... 

General direction for the students :-Whatever be the notes provided , everything must be copied in the Maths Copy and 

then do the Home work in the same Copy.     

  TRIGONOMETRICAL RATIOS OF COMPLEMENTARY ANGLES 

       𝒔𝒊𝒏(𝟗𝟎 − 𝜽) = 𝒄𝒐𝒔𝜽                    𝒄𝒐𝒔(𝟗𝟎 − 𝜽) = 𝒔𝒊𝒏𝜽 

      𝒕𝒂𝒏(𝟗𝟎 − 𝜽) = 𝒄𝒐𝒕𝜽                    𝒄𝒐𝒕(𝟗𝟎 − 𝜽) = 𝒕𝒂𝒏𝜽 

      𝒔𝒆𝒄(𝟗𝟎 − 𝜽) = 𝒄𝒐𝒔𝒆𝒄𝜽               𝒄𝒐𝒔𝒆𝒄(𝟗𝟎 − 𝜽) = 𝒔𝒆𝒄𝜽 

Exercise 18.2 

1 iii) 
𝑐𝑜𝑠𝑒𝑐17°30′

𝑠𝑒𝑐72°30′
    ⇒  = 

𝑐𝑜𝑠𝑒𝑐(90−72°30′)

𝑠𝑒𝑐72°30′
     ⇒ =

𝑠𝑒𝑐72°30′

𝑠𝑒𝑐72°30′
  ⇒ =1 

5 ii)    
𝑠𝑒𝑐29°

𝑐𝑜𝑠𝑒𝑐61°
+ 2𝑐𝑜𝑡8°𝑐𝑜𝑡17°𝑐𝑜𝑡45°𝑐𝑜𝑡73°𝑐𝑜𝑡82° − 3(𝑠𝑖𝑛238° + 𝑠𝑖𝑛252°) 

       ⇒ 
sec (90°−61°)

𝑐𝑜𝑠𝑒𝑐61°
+ 2cot (90° − 82°)cot (90° − 73°)𝑐𝑜𝑡45°𝑐𝑜𝑡73°𝑐𝑜𝑡82° − 3(𝑠𝑖𝑛2(90° − 52°) + 𝑠𝑖𝑛252°) 

       ⇒ 
cosec 61°)

𝑐𝑜𝑠𝑒𝑐61°
+ 2tan82°𝑡𝑎𝑛73°𝑐𝑜𝑡73°𝑐𝑜𝑡82° − 3(𝑐𝑜𝑠252° + 𝑠𝑖𝑛252°) 

      ⇒ 1+2.1.1.1-3.1 

     ⇒0 

**** For further explanation of above topic and more solutions , watch the video. 

HOME WORK : Solve, left over questions from1 to 13, from  the exercise.  

 

 

 

 

 


